1./6

3 EXeE e 1 2
RITEIFEHRFS (HAE1S)
_ AfL-28 | ARLPE A A
I %= 4 IG5 I8 | IH0EE IEH=E
P e 5 % | ® m| EHF
v i T BILA AT 1.0 A2
BRH i AR TR T D2 LX) TrH | B EARTE [EES NP E RARIRER
K= HT AU
B P T R A=650m’ . P29
e 1 X B R R 1L (2 LX) 8y H BT ATLH FRA B KL i3 RARIRER
PEIGHT BT L=60m AU
e S (o X (o [T HBILZ LT 0.5% AR 294F
TIERCRIBRHRER AR L 5@ TrA |k T TS TN I S T
SELI AU
7 i (. X (g [ HBILZ LT 1.0% FRZ294
TIERCRIBRIHRER AR LHE 871 | bk T EYS TN I S YT
) i SRHT Fi T L=10.1m AP 1)
PN AT 1 294
AT AR X HHE A B i T4+ Tr A B EATLE EEE S NP B WL R LR
SEAESFIT AU -4
jt*‘j‘ftﬁ 7k%]‘:/*/[/]:1ﬁ #Hmﬁﬁﬁj\ﬂ; IP:EAZ:SOQE
A AR L X T FH KBS B pL T 1 7 | @R AR @ZAéWﬁ) I3 WL R LR
FI T e 204
i 7o 15K P RE304FE
R AR I DX 7 o0 B i o 97 A | BRI EEE SN D B WL R LR
SR EAEES ]
LT 7o 15K P RE304FE
B AL 1 DX AR AN 7 0 h B fff 677 [BEHREALS FRA B KL =3 W AR B
SEL F200 -1
LT FPEKET L=250m PRk 294E
B L X 25 SR K I T (200 2) 677 [BEHREALSR EEE S ND =3 WL R LR
ARILIHT EZIES ]
LT FHEKE T L=240m PRR294
H X4, 553/ PEK i T4 677 [BEHREALS LR S NP =3 WL R LR
ARILIHT AN -1




2/6

R = ETeke a4 22
EIFELIEREHRAZS (HXE1S)
_ AFL-228 | ARLFE A #L
T = 2 TEIGT I8 | IENESE ITEHME
i s 5 % |® m| =B

PR XHE#HE T A=3.7ha TRk 304

1 s X X R T (9T X)) 97 A |BHREATE Fa4 B AFL HE IR R LR
RAHT EAlLES:
LT X T A=4.0ha TERE304E

X X B T % (21.22 TX) 97 A |BHREATE TR B AFL HE IR R LR
FRLLHT EAlLES:
LT XE#H T A=1.2ha TERE304E

HER WM X X EEE TH (23-1 TX) 87 A |BHREATHE TR B AFL HE IR R LR
BT EAlLES:
LT XE#HE T A=1.0ha TRE304E

HER M X X EEE T H (23-2T.X) 87 A |BHREATHE FR4 B AFL B VR g i L)
LG - o T EAIES
R XE##E T A=1.lha RL304

HE R X R E S T H (24-1 TX) 87 A |BHREATHE FR4 B AFL B VR g i L)
BRPCELLIN EalLES: ]
R XE#HE T A=2.Tha RL304

HE R X R E S T % (24-2 T.X) 97 A |BHAREATE FR4 B AFL B VR g i L)
BRPCELLIN EalLES: ]
E XE##E T A=1.9ha ERL304E

A E X KA T H (25 TX) 97 A |BHAREATE FR4 B AFL B VR g i L)
CRRGILU EAES ]
R XE##E T A=1.2ha ERL304

A E R X K A T H (26 T.X) 97 A |BAREATHE TR B AFL E VR g i L/
CRRGILU EAES
R s | THFEL=480m P304

A BB T a0 |7 TV TN B S RPN
RAgHT = S%ET A=3,40001 EAES
VEET XE#HE T A=2.0ha ERL304

P IRy b X [ S B T2 (1 T X)) 87 A |BAREATHE TR B AFL E VR g i L)
VE A T EalrESr




3.6

. == EacE —
EIFELIEREHRAZS (HXE1S)
_ Adl-z# [ ARLTE A Al
T = TEIGT I8 | IENESE ITEHME
i s 5 % | B #m| mHMH
Ve i 7 XE & T A=3.0ha TRk 304
FE I 5 A B T (2 ) 871 | Pk A T# S CyN N IR S R B
P AT 10041
Vg XE#H T A=2.0ha K304
FE I 5 A T (3 L) 871 | Pk A T# Y CyN N IR S R LR
P AT 1001
=)0 7= 1EHT TR 294
R AT B M B 730 b T 9y | Pk oA T s CyN N B R LR
A T AN 1]
El=)E00 7= 1EHT TRk 304
A 5 0 DR 700 A S T o 9r A (s ATE S C NN By R B
A BT EaarES
rA fe SR 7= 1 AT SRR 304
R S H X T 70 S T TR kAT 7S C NN By R B
A BT 200 - 1
P b gl TR T304
P B X 7= o - TR B T o AR (B AT E 7S C NN By R B
A BT 200 - 1
A Sy X E & HA =2.5h K294
RS L 1077 |k AT - mamAAR| |
] THIE T JHH7> A2 A =3.3ha AU -1
= SRS (KT T BT T P L L ] I I——
(15K - 16 LX) ST HHHI7S /U 28N A=T.8ha (REERFAE) | s g gy
= SRS (KT T BT T P L ] I I——
(17 LR 18 L) ST M7 A A=5. 1ha (BT | g5 ety
= FU S H X [ TR T sy T P L DAL $W§0$ p——
(2223 L) RN M1 H17> A5 VA =6.9ha (REERFAE) | gy oy




46

. = EacE —
HEIFPTEIEEFHRAE (HXE1S)
AL | ALFE | A AL
T = £ TEIGT TH | ISZ0REE TEME % " B N
— A Yo Sy XA =2.4ha TRk 304
LIRS 1075 |t LA T X EON N BRI
24T THISE T AU DA =3.2ha 1004
RN : - Sy XA =1.8ha JERE304E
o M 1075 |t AT X S ON N BRI
(25Tp BT HHE A 75 A =2, 4ha EALIEaY
— RIS LI A B3 Byt M A 23 A=4.2ha - FRRI0F
iR T 60 | bk b T BAEAAIL | BRR
ST ESEY
72 4 5 [ R PR T g X EAEHA = 2.8ha B e
LR = 1 1 | bk bk T ol A Jig B EREUR
(261R'27IR) j][](%ﬁiﬁﬂ‘ (?f‘u_\ﬁ nT ﬂﬁ %4”1“]#;_%
7 JE M [ [ [ PR T A R TN PTE— X H3 A =6.3ha AL qzﬁkrgoﬂz R
(4-4T[K -5 TIX-6 TIX) o A= e P PRI
ey A R XE#EHA =3.1ha SRR 304
ZE ML HE P PO T 105 13 | bk A T sameaaLl 5 JFUR B
(23050 ST FaUInar
ey A R X E#EHA =3.4ha SRR 304
ZE LA P PO T 105 13 | bk A T sameaaLl 5 JFUR B
(24150 ST PaUInar
7 B Hb X [ [ S B T A R [ P— X H[#FFRA =5.7ha 4 AL BZEJZFQOE I ——
(19 L1<+20 1<-21 LX) P 10T BT | g oy |
EflTh et | HiE TL=600m SR04
LI A 2 M 4 T o 3 |7 T mEmSAL I | B
=5 FHT 7
(LR A 2 MDA A, 75 i T (| 0 7 | g o | A HERA =2030 —gadL| TIEOT
»1) =y = (i85 FFAm) 10040




5/6

. == EXicE —
RIFEISHERAS (HAE1S)
_ Az [ AR ]| A A
I = & TE5H I | ITE0EE TEHE
e e 5 s |m m| wBE
- , e, E=(ITn JHI7 AU IR A =20. 1h FR304E
e AR 877 | T - - mamAA| g | s
== EAIIRE
1L R JEE 55 2. K i)~ A S\ i 35 T (7 EAT FHHI)> A DIV X A =14.9ha %304
sy v 97 |MpktA T RS SN BIRIRBLS
== EAIIRE
SR X IR T (12413 TIX) 107 | LA T iy Sl I BB
FEPY G PHTTEEY
EX(ny X 4L FLA =3.4ha T304
S U K (K R T (16 %) 971 |pek A T E2S ESN I B SRBUR
HFNT EAIUES
A 1.7 1 | XEFEBEA =1.9h 304
ST L (516 171 S 1 Bt T - mamari| g | o
) (eI FAIPESY
7Y~ n— R R A T Voo 1 i e g TOPIMRERASE T N30 ] I ——
FZDD - BFH) | g, gy
7Y —> n— R R R i | PR o1 || PR T N-2 I Rl I
HHE?D) BRI ERUIRE
Sl =K A < T P rsaan| | R
HE ) g2y 1004 N
i T N=1 29
IR T M T 5y H Mtk AT P ESN I AL
i AT LB




6.6

R X cax o 2
EIFELIEREHRAZS G L))
_ AFL-228 | ARLFE A #L
T = 2 TEIGT I8 | IENESE ITEHME
P e 5 k| m o m| wmw

FET HUBFTHEM T N=1,000nd TRk 294

A i X725 1 Pt T 5 87 A |BHREATHE Fe4 i 4 AHL =4 B EHR LR
A T A0 1
SEET 7oA —1T. N=10A& TRk 294

HIRH IR T — T % 67 A |BEHEATEH FE4 i 4 AHL =4 B EHR LR
A T 4001
et KoKz —=X 3@5229%

FHEEH X RS BOK iR T8 (20 2) Tr A | EREATEHE FE4 i 4 AHL =4 B EHR LR
& RHT EZIES ]
ST LT —X ERk304E

TR b X 723 A T2 578 |EHEATEH B4 Bid AHL B WAL PR
T IE 70> T — 200 -1
E=tin) 4 5 150 TA=417nd +8 TL=51.6m ERL294F

NN R AR THTR L T8 (2T X) 87y H |EMREATE a4 g AL i3 TR
i 1 AT LR+ T A=793.2nd A0 1
TS Ko /K% T.1.=300m ERL294F

FEHH XA T G A Tr A | EATEHE B4 B4 AHL B B IR
m—? it = BERRAS BAZE T V=450m3 AN 30
T 7ok N=1=X ERL294F

AR/ 16 Hh X R 7= b A T 67 A |BEHEATH B4 Bid AHL B IR LR
%5/ JEmy AN -1
BT EFET A=1000nt Rk294E

B XA BE I TE (1 TX) 87 A |BAREATHE B4 i AHL E B AR B
[z~ +8T L=50m AP0 -1
=t s+ T A=1000nt TERK304E

B XA B T QCTX) 67 A |BEHEATH B4 i AHL E B AR B
[ AT 200 =1
pop:tl 1T V=298.2m3 ERL294F

IR AR RTA L TH (1 LX) 8y H | ARTE EEES = INN B S IR IR
Jak ST H T 1=36.6m AT -1




